[image: image1.png]agkAAN 5. What does the man think the woman should pack?
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i e 6. How much would the man pay for the spartment?
Bl EREE s A 50 dotrs. . 500 dlas, . 790 gl
R CEIRIE 150 44, 43 150 40) 7. What docs the womsn say about JK Club?
ROT— A, Teis 50 aoisy. B Ttis crowdee, C. Teis new for her,
LEEH, B S SERE EEFRRN A AT ACHAFES B, FEEUR 8. Why does Tom refuse the new job?
) R S B Y BT A SR LA RS ES A RT T, A. Because the bank pays hif riore,
REBMERUERE, A 2B REBETEF LOMERBRR, NBLD, ARLBT S B. Because the bank has a better manager.

+ ROBEARGERAS, E06 LESTL, C. Because the bank s closer to where he lives.

h SEAHRWAW LY FERO LB 9. What does the woman mean?

4 AFHERE, S EPARRENEEF LA, A s el cold th

i I Listening Comprehension (S0 points) - - Shehas repeatedly told the man the time.

# . Directions: In Sections A, Band C you will hear everything ONCE ONLY. For Section D, B She his watched the film many times.

B souwll liste t cach news itm TWICE, Listn carafully. You can mark your ancers o G She has checked through the schedule
BB ke paper. At theend of this pare, plaserememr 10 mark the coresponding Lo on 10. Where i the man going?

i 5 Jour ANSWER SHEET. K A Toausinsution, B, Toa tax stop C. o s maket
4 Section A Short Conversations. Choose the best answer. (10 points, 1 for cack) Section B Loug Consersations (15 points, 1 for ach)
I Connrsation 1 Dade whather eac of th folovin sttemenis i rue,
~ B. He alwass keeps his car in good shape. 11, The woman just returned from a 4-day holiday.

€. He always asks John for advice. A Teue B. False

w 2. What do the two speakers say about the restaurant? 12, The woman had a good time with her family at the seaside.

H A. The price s high. A Tre B False

® B. The food is good. 13. The woman owned a beack house near the Tmperial Hotel,

C. The decoration is chesp. A True B False
3. What does the woman imply? 14, The woman worked in the hotel three sears ago.
A. She will not help the man with his assignment, A. True B. False
B, She hasn’t stareed to do her assigament set. 15. The Impertal Hotel was ice and not too expensive,
. She can not do the sssigament tonight. A Tree B False
4. Wheze did the convessation most probably take plsce? 16. The woman liked tosit o the besch and do some reading.
A Acs beak, A Tae 5. False
B Ins bookstore, 17, The woman’s sister dida’t like 10 play in the water.
C. Tn restaurens, A Tre B False
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[image: image2.png]18. The woman told her sistet about a lot of local food.
A, True B. False
19. The womsn's parents enjoyed talking to the local people.
A, True B False
20. The woman found it a good ides to spend her next holiday at the same seaside.
A True B, Flse
Conversation 2 Choose the best answer.
+Qudstions 21 to 25 are based on Conversation 2.
21, What did the man comlain about o the women when he got home?.
A His work, B. The weather, C. His briefcase.
22 Why was the man geiting 50 stessed?
A, Because be was etting il :
B. Because he had a crazy boss.
C. Because he had a heavy workload.
23. What did the woman advice the man to do?
A. To find a new manager.
B. To hire a temporary typist.
C. To have a talk with his boss.
24, Why did the woman offer t0 serve dinner?
A, Because she wanted the man to relax.
B. Because che was getting very hungry.
C. Because she tred to avoid fighting,
25. What happened to the woman in the kitchen?
A Shecuther finger. B, She spilled the salad.  C. She fell down on the floor.
SectionC Passages (15 points, 1 for each)
Passage 1 Decide whether sack of the following statements is true.
Questions 26 to 35 are based on Passage 1.
26, Ki
A. True B. False

27, A recent study shows that kids aged from 2 10 11 watch TV for  total of more than one

re now watching less TV because they tend to plsy more video games.

day & week.
A True B. False

28. According to the report, the youngest TV viewers are kids aged from 2 o5,
A, Trae B. False
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25, Preschool kids watch TV for femer bours than kid i otber sge groups
A Tre 5. False
30, School kids wateh more TV progeems than preschool kids because they can understand
becer,
A Tre B False
31, More and more shows are simed st kids, Video-on-demand s very popalar smong the
youngest kid.
A Tre B False
52, Kids axe mastly watching lve TV, and they are also watching programms on DVDs.
A T B Felse
55, The study xepores that oder kids play more video gemes than waich TV progsams.
WA Tee 5. False
31, Sicing long hours in front o the TV could lead to weight gain.
A T B False
55, Doctors recommend that kide under 2 should not waich TV st all.
A True B False
Passage 2 Choosethe best ansver.
Questions 36 to 40 are based an Passage 2.
35, What do we know about Lin Ying snd Bill7
A They studid the same gradue progear for two years.
B. They graduated from s colege two yesrs ago.
C. They spent the summer holiday together.
57, Where did Bil g in the summer?
A, Alsska B. Chicego. C. Shanghe.
56, Wh did Bill cll i Ying one day?
. Because he wanted 10 el hee sbout bis .
B. Because he wanted to telt her about his mail
C. Bocause be wantad totell ber abous his program.
55, What was it on the back of the tag?
A A symbol of love
B. A picture of an Eskimo.
. The prie of the necklece.
40, What did Huang Chen imply sbout the gifi?

A Tt was too valoable.  B. It was too simple. C. Tt was t00 cheap.
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Section D News Broadeast. Choose the best answer, ( 10 points, 1 for each)
News Item 1 Questions 41 o 45 are based on News Item 1.
41, How many percent of the United States is suffering drought?
A. 5% B. 60%. c. 9%,
42. What can be learnt from the drought map?
A. The temperatures in June were the highest on record.
B. The drought conditions improved in the Southeast in June compared with May.
C. The drought was getting ingensified around the whole country.
43, What did the American Agticulfiire Seeretary report to the president?
A, ‘The drought had affected corn and soybean erops.
B. The drought would affect America’s leading place in agriculeure,
. The drought would improve in largg parts of the country.
44, Why did the wheat prices jump 50 high?
A. Because the UN purchased 2 large amount of wheat last wek,
B. Because the American food production increased very fast this year,
C. Because dry weathir also affected wheat production in the Black Sea region.
45. What may ranchers in the Uited States do to cope with the drought?
A. They may reduce the size of their herds of animals.
B. They may pay more to keep raising the animals.
C. They may stockpile more corns and soybeans.
News Tiem 2 Questions 46 to 50 are based on News Item 2.
46. Why do people usually get very busy before Christmas?
A Because they need to send lots of Chriscmas gilts.
B. Because they need to finish all the work in office.
. Because they spend weeks preparing for the holidsy.
47, What have some churches in the United States done et Christmas?
A. They have offered places for people to rest.
B. They have cancelled Cheistmas Day services.
C. They have organized parties for people to celebrate.
45, What is one of the important parts of the Christmas season?
A, Music, B. Parey ¢ Gife.
45, What can be learat sbout the Americen Constitution?
A Tt sepacates schools from religion.
B. It separates religion from government,

C. It separates holiday observances from religion.
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50. How do some people celebrate Christmas in less material ways?
A. They buy o gifts.
B. They celebrate the holiday st horme oaly.
C. They volusteer o serve the homeless and the old
IL Vocabulary (30 poins, 1 for each)
Directions: There are 30 incom plete seniences in this part. Bencath each sentence there are
Jour choices marked A, B, Cand D. Choose the best one to com plete cach sentence. Mar:che
corresponding letter on your ANSWER SHEET. -~
51, He viewed the match in 2008 55 4 turning in bis life,

A, place” B corner C. position D. point

52. The government great importance to environmental protection.

A stiches B pus C. associates D. emphasizes
55, A university is judged not merely by the size of its cempus or by the number of its
students, but by its___ level.
A aldtnde B, welfare €. academic D. prominent
54 Most of the workers are said to ___ the new training program.
A. object B oppose C. disegree D. opposite
55. Photography s stcietly ____ in the museum,
A forbidden B, rejected C. excluded D. denied

§6. These national parks are very important for preserving many animals, which would
run the risk of becoming extinet.
A, instead B. therefore

C. nevertheless D, otherwise

S7. Toursm has become one of Singapore”s major industries. It is that almost five

million tourises will visit Singapore each year in the near future.

A estimated B, infected C. possessed D. dictated
58. You have to___ by the judge’s decision.

A, abide B adhere C. conform D. comply
58, The lttle girl was standing outside in the snow, with eold,

A, stogaering B, spinming €. shivering D. shaking
60. His in computer games affects his health seriously.

A, indulgence B, habic C. engagement D. addiction

61. Asking children ta save part of their can open the door to future saving and

investing,
A, geant C. allowance

B. commission D. pension
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[image: image4.png]52, Llike the clothes which are a perfect combination of style, comfort and

A swbility  B. dusability C. capabilivy D. availability
83, The government is thinking of ____ heavier taxes on cigarettes.
A, impairing B, imposing C. invading D. integrating

84, The stadents are required to read a few from the novel as their reading

igoment.
A, pieces B. essays C. extracts D. fragments

65, They have always been on good with their neighbors.

A friendship B felations C. connections D. terms
5. o took o thefine westher o do a day’s work i his garden.

A, chance. B, interest * C.. advantage D. charge
67, The giel was Kroskad dows by s and by .

A, riined B harmed 0 C. damaged D: injured.

68, His life s a xiver-boat pilot came to'a sidden end. He was 0 leave Mississippi at

the outbresk of the war,

A. committed B attributed €. compelled D. convinced
69, I'm very sorry to have ____ you with so many questions on such occasion.

A, interfered B, offended C. impressed D. bothered
70, The itle girl __ tears when she found she was left lone.

A fellinto B, burstinto C. cameinto D. grew into

71, The boy slipped out of the room and headed for the swimming pool without his parent’s

A consent B compromise  C. convietion D. command
72 Mary Edvwards Walker, a physician during the Civil War, was ____ » medal for her
service 10 the Union acmy.
A denied B awarded . gusrenseed D. recommended
73, Birds can ____ the focus of their eyes more rapidly then any other eimals.
A adiust B, enlerge C. refine D. nassow
74, The president had to resign ss he was ____ of bribery.
A charged B, blamed €. aceused D. indicted

75. The children can repeat the poem they”ve just learnt by

AL bear B sense C. sight D. experience
76. Some well-known scientiss belicve that there is not enough oxygen on Mars to
human lfe,
A st B. sustain C. retein D. remain
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77. Some specialists teach people how to deal with their fears and eventually ____ them.
A overlook B, overtake C. overcome D. overthrow
78, We are ready to defend the sscred ___ of our motherland.
A area B. boundary C. cerritory D. limitation
79, Mr. Martin bad an unusual ____ he was first an office clerk, then a salor, end ended

up as & school teacher.

A. profession B, occupation C. position D. carcer
80, He has been __ the study of physics for nearly 30 years.

A pursuing B. pursing

C. persuading D. purchasing

I, Grammar (30 polats, 1 for each)

Diréations: There are 30 incomplete sentences in this part. Beneath cach sentence there are
Jotur choices markéd A, B.Cand D.. Choose the best one to com plete cach sentence.. Mar the
corresponding letter on your ANSWER SHEET.

81. From the tears in Mary’s eyes we can deduce that something sad

‘A should oceur B. would have occurred.
C. might occuring. D. must have occurred

82. Early philosophers believed that the mind was divided into three facultios ___ as
fecling, intellect, and will.
A. knows B. knowing.
€. known D. to know

8. Jene worked just as much
A. like what she was told to
. 23 to what she tried 1o do

B. like she was told to
. as she was told to
84, By the end of next month, they ____ the financial report.

A, complete B. will bave completed

C. would have completed D. will complete
85. Ever since she arrived, she constantly sbout the weather,
A, complains B. compleined.
C. is complainiog D. has been complaining
8. Tom ___

A, always finds

ault with the way bis wife cooks.
B has always found
€. always found D. bad always found
87, Lappreciate ____ your daughter’s wedding ceremony.

A to be invited 0 B to being invited to

€. to bave been invited to D. being invited to
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[image: image5.png]8. Smoking is 20 harmful to health that it kills each year then automobile accidents.

A, more seven times people
C. more people seven times.
8. Not untl two years ago

A hebegan  B. he begins

90. We went to work by taxi yesterday because our car

A, was repairing.

€. was being repaired
9L IV's time that we.

A ook B have talcent

B. seven times more people
D. people seven times more

10 live in the United States.

C. began he D. did he begin
at the garage.
B being repaired

D. to be repaired

firm messures to protect our environment.

C. are taking D. will take

92. All the tasks ahead of nmﬂy‘th!y decided to go on holiday for a week.

A, been fulfilled
C. had been fulfilled

93, Furniture made of pure wood s cortainly more expensive then

B. were fulflled
D. having been fulfilled
made of other

materials,
AL now B. that €. those D. which
94 Tt is my proposal that the new rule ____ cancelled.
A be B. was C. being D. tobe
95. 1f you don’t like to play basketball, you s well stay at home,
A may B, can C. should D. would
96. There has been a great response to the sale, ___7
A does there B, hasn’t it C. has there D. hasn’t there

97. The human body is composed of organs, cach ___

_ 2 definite job 1o do.

A has B. had C. having D. is having
98, When ___ the reason for their success, the kids had two explanations. haed work and
theie parents” encouragement.
A, asking B asked €. have asked D. had asked
99. Don’t forget 10 buy me some food, __7
A, doyou B. don’t you . will you D. won’t you
100, She goes t visit her grandmother ____ weck.
A. all other B each other

C. every other
101. When a country
completely die out.
A, develops
C. being developing

D. every another

it technology, the traditional skills hopefully will not

B. wil develap
D. t0 be developed.
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105, Ma econo

102 How clossprents s 10t childrn s seon nlunce on the harcn of e
idzen

At B . haing 0. 0 have

108, A prson neds o o who h o she s befoe e sl o ko et ___ ke

him or her happy. )

B i which

101, Please talk to me sbout

A st that . it thar D. itis who

is troubling you.

A however B, wherever €. whatever D. whenever

ts believe. chat advertising helps inceease competition, leads 1o
lower prices, thus beneficing consumers.
A, what B that C. when D. which

106. There are over 100 night schools in the city, making it possible for & professionl to be

recducated no matter ____ he docs.
A bow B when C. what D, where

107, These two aceas ave similar ____ they both bave a high rainfall during this sesson.
Awde Bt C.excepribat D besides that

108, After the earthgaake, 2 new suclea station was put up ___ there had been a farm.
A, when B that C. where D. which

109, made the school proud was ____ mare than 90% of the stadents had besn

admitted o key universities
A. What; because B Whats that  C. That; what
110, They all tuened a deaf car to ber advice,

D. That; because
they knew it would be helpful to theie
work.
A asit B so that
IV, Ervor dentification {20 points, 2 for each)

. now that D. even though
Directions, Each sentence has only ONE mistake. Please poins out the error item , then mark
the corresponding Letzer on your ANSWER SHEET.

111 A primary eolor is i which cannot be made by mising other colors.
i B T
112, Democracy and liberty are the beliefs on which American society bas been build,
A B C D
113, Horse have long been domesticsted and bred for their strength and their speed.
A B T D
114, Many young poets having had their works printed in the Village Voice.
X B T b
115, Three years ago, 1 gave up to try to learn swimming s | could ot ges over my fear of
A BoC D .
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[image: image6.png]116 Bven for vt b Iy with e for s, the gl 1 st 120 A sdpts B, adopts C. aplics D. conducts
122, A featores B quslites differences characterisics
rising children was the most difficult of all family matters. et ¢ D charact
dsing i 125, A, stay B siick C. insist D persise
117, Unfike modern clocks, most old-fashioned clocks need 1o wind mansally in order to 126 A mentlly B, nervously <. physically D consciously
hA B < D 125. A. bored B. slespy C. frustrated D, frritated
s i N 26, . it B when €. unil D eveniit
116, Seemingly that the American Library Assocition is the oldest and lasgest library
Seemingly that the 4 H largest 127, A bardly B solly p— D, frankly
veontion i the world. 128, A, decent B enosgh C. défcent D. extreme
119, Tn ancient times man found gold unsuitablefor making wespons besauseits softness and 129 A limis B dealls Crelesses D, complicates
S 5 © 130 A, serve B supsly C. fumish D. funcrion
it veed e or om0 11 A thae B. what C. which D. o
" 120. In nature, the disiributive of plants is obvigusly related to climate. oAty . . :Thongh D. Xaligd
I8 5 P D 138 A, time B. cyele €. roumd D. period
V. Class Test (20 points, 1 fo cach) 134, A, o B end C. bue D exen
Divections, Thers are 20 blanks in the following. passage. For cach bank there are four 195, A, it B, texiporary © conmporars 5 Iy shiey
hoices marked A, B, Cand D. You should choose the ONE that best fis into the passage 136, A, shife B replace C exchange D. substitute
and ihan mark the coryesporin Lecter on sour ANSWER SHEET. 150, A fegisr B, babituat C. customary D popular
Why is it s0 dificlt to el aslecp when you are overtired? There is 70 one answer that 138, A, thus B, howerer G futhermore D consequently
121 <o every individunl, But many people fil o note the 122 _ between fsigue— 15 A wud B normal © gencrsl D average
Shysical tixedness—and slespiness, the inablity to 123 awake. It possible to el txed L0, A symbols B, symptoms G prescriptions D descriptions

124 and still be unable to fall ssleep, because while sour body may be exhausted, you
don"t feel _125 . To fall asleep, you need enough time to relsx; 126 _ you feel very
ticed, it i not so easy to reach the aim _127

According to Corl E. Hunt, director of the Nationsl Center on Slecp Disorders Research
in Bethesds, Maryland, most people do not give themselves _128 _ time to relax.

Lack of sleep _120_ matters even more. Experts say adults need at least 7 t0 8 hours
of slecp a night to 130 _ properly. When you continue to get less sleep then _131_ for
seversl nights, sou begin to increase “slecp debe”. 132 slesp debt increases and
Functionality decreases, your body experiences & strsss response and begins to_ release
adrensline LRI, Now a vicious GEHHS) 133 has been created  You experience
the fesling of being more and more tired, 134 your body s increasingly simulated.
Long-time slecping on weekends is only & _135 _ solution. “ There is no 136 for
getting a good night’s sleep on a __137_ basis,” seys Hunt.

Most of us, _138_, don’t get the sleep we need. According to the 2002 National Sleep
Foundation Americans sleep a(s) 139 _ of 6.9 hours per nigh duing the weck, and 5§ percent.

of adults suffer from __140_ of insomia (463 a few ights a week or more.

FUBUEERE BT 2T FUEREBRE B 12T (1230





